
SAP ABAP table LIPSO1VB {Posting structure for LIPSO1}

LIPSO1VB

MANDT [CLNT (3)]

VBELN [CHAR (10)]

POSNR [NUMC (6)]

UMRSL [CHAR (4)]

FDICHEH [UNIT (3)]

BDICHEH [UNIT (3)]

BHVALEH [UNIT (3)]

TSTEH [UNIT (3)]

MTTEH [UNIT (3)]

TDICHEH [UNIT (3)]

MTPRESEH [UNIT (3)]

TPREDEH [UNIT (3)]

TPRHVEH [UNIT (3)]

TTMPHVEH [UNIT (3)]

ATPRESEH [UNIT (3)]

VAPRESEH [UNIT (3)]

THVALEH [UNIT (3)]

MTCOMBTEH [UNIT (3)]

MTCOMBPRESEH [UNIT (3)]

TSTMPCALEH [UNIT (3)]

TPREDCALEH [UNIT (3)]

BSWCNEH [UNIT (3)]

GASCOMPRATEH [UNIT (3)]

MOLDENEH [UNIT (3)]

MOLWEIGHTEH [UNIT (3)]

CUSTEH1 [UNIT (3)]

CUSTEH2 [UNIT (3)]

CUSTEH3 [UNIT (3)]

OIB01

MANDT [CLNT (3)]

UMRSL [CHAR (4)]

 LIPSO1VB-UMRSL = OIB01-UMRSL 

0..N

0..N

T000

MANDT [CLNT (3)]

 LIPSO1VB-MANDT = T000-MANDT 

0..N

0..N

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 LIPSO1VB-ATPRESEH = T006-MSEHI 

0..N

0..N

 LIPSO1VB-BDICHEH = T006-MSEHI 

0..N

0..N

 LIPSO1VB-BHVALEH = T006-MSEHI 

0..N

0..N

 LIPSO1VB-BSWCNEH = T006-MSEHI 

0..N

0..N
 LIPSO1VB-CUSTEH1 = T006-MSEHI 

0..N

0..N  LIPSO1VB-CUSTEH2 = T006-MSEHI 

0..N

0..N  LIPSO1VB-CUSTEH3 = T006-MSEHI 

0..N

0..N  LIPSO1VB-FDICHEH = T006-MSEHI 

0..N

0..N  LIPSO1VB-GASCOMPRATEH = T006-MSEHI 

0..N

0..N
 LIPSO1VB-MOLDENEH = T006-MSEHI 

0..N

0..N
 LIPSO1VB-MOLWEIGHTEH = T006-MSEHI 

0..N0..N

 LIPSO1VB-MTCOMBPRESEH = T006-MSEHI 
0..N0..N  LIPSO1VB-MTCOMBTEH = T006-MSEHI 
0..N0..N

 LIPSO1VB-MTPRESEH = T006-MSEHI 0..N0..N

 LIPSO1VB-MTTEH = T006-MSEHI 

0..N

0..N

 LIPSO1VB-TDICHEH = T006-MSEHI 

0..N

0..N

 LIPSO1VB-THVALEH = T006-MSEHI 

0..N

0..N

 LIPSO1VB-TPREDCALEH = T006-MSEHI 

0..N

0..N

 LIPSO1VB-TPREDEH = T006-MSEHI 

0..N

0..N

 LIPSO1VB-TPRHVEH = T006-MSEHI 

0..N

0..N

 LIPSO1VB-TSTEH = T006-MSEHI 

0..N

0..N

 LIPSO1VB-TSTMPCALEH = T006-MSEHI 

0..N

0..N

 LIPSO1VB-TTMPHVEH = T006-MSEHI 

0..N

0..N

 LIPSO1VB-VAPRESEH = T006-MSEHI 

0..N

0..N

VBUK

MANDT [CLNT (3)]

VBELN [CHAR (10)]

 LIPSO1VB-VBELN = VBUK-VBELN 

0..N

0..N

VBUP

MANDT [CLNT (3)]

VBELN [CHAR (10)]

POSNR [NUMC (6)]

 LIPSO1VB-POSNR = VBUP-POSNR 

0..N

0..N


